13-43 H =35 hp, n, =1200 rev/min, ¢=20°
N, =N, =16 teeth, N, =N, =48 teeth, P =10 teeth/in

@ n —n=n, =N, 10

intermediate
3

(1200) = 400 rev/min Ans.

n :&&ni =E(Ej(1200) =133.3 rev/min Ans.
N, N, 48\ 48
(b) p=ﬁ = d =E
d P
d,=d, =E=1.6 in  Ans.
10

d,=d, :%:4.8 in  Ans.

zd,n, (1.6)(1200)

V.=V,=V,= = =502.7 ft/min  Ans.
12 12
1.6)(400
vy, =y, =T 7(LO)400) 676 fumin  dns.
12 12
H 33000(35)
(©) W.=33000—=————""=-=2298 Ibf Ibf  Ans.
V. 5027
W. =W, tan¢=2298tan20" =836.4 Ibf  Ans.
W, = Wo _ 2298 _ 2445 Ibf  Ans.
cos¢g cos20°
H 33000(35)
W =33000—="""""-68911bf Ans.
vV, 1676
W, =W, tang=6891tan20" = 2508 Ibf Ans.
W = W, _ 0891 _ 7333 Ibf  Ans.

° c0s20°  cos20°

@ T=Ww, (%) - 2298(%) ~1838 Ibf-in  Ans.

2 2
(e) Q:ﬂ(%) =1838(%) =16540 Ibf-in  Ans.



